ITI Turner 2nd Year Module 8 CNC Program, Simulation & CNC Turning

(1). What is the use of bar feeding automation? | TR BITSTT WA BT ITART
T g?

(A) To increase the efficiency of the machine | q?ﬁ?ﬁ?ﬁ@ﬁ%%ﬁ
(B) To control the auto feed mechanism | 3irel qﬂ@ﬂﬁﬁﬁ?ﬁﬂﬁ%%ﬂ

(C) Itincreases the material handling time | WW%@W% a9 &1 deldI

(D) It takes much more production time | g dgd 3 IdTG wé?n%

Correct Answer : A

(2). Which ‘G’ codes is used for parting off with peck in FANUC’s? | FANUC ﬁ%

& 1Y TIfET-31Tth & fore 11 A1 '6! IS IUTNT {1 Srar g2
(A) G73
(B) G 74
(C) G75
(D) G76

Correct Answer : C

(3). What is the code of 'z’ used in drilling operation in the format G74Z-Q-F-? |

fSTET SITIRRM H URET G742-Q-F- B B T HHIS, BIS 2 P (o7T T8Il 82
(A) Drill relief depth / Return amount | ﬁ'gﬂﬁ?ﬁ'q?@'&[/ Red 3HNe
(B) Feed value for incremental depth of drill | ‘é'cbnlﬁl.dc'i f\gﬂ ﬁ‘lsﬁlé%m

WIS 9

(C) Incremental drill depth | S'QIOGIJ:I.CQ'I %m@m




(D) Depth of hole | BId P! TTERTS

Correct Answer : D

(4). What indicates by P in the part program of grooving operation in G75X - Z-P-

Q-F-? | UTE URIH G75X - Z-P-Q-F-? & AT SO H ot gRT 31 3fd e g2
(A) Groove diameter | qg?{r«tmﬂa

(B) Tool return value | g¢f e élcq_\

(C) Depth of cutin 'z’ axis | ‘2’ 31& A dela ﬁ‘lﬁ%l‘g

(D) Depth of cutin 'x" axis | ‘X’ & H el ﬁusel:—{

Correct Answer : D

(5). What is the name of the operation in the given figure? | %Q‘TQ mf{

TR BT ATH T 82

/—mnxz.ux-lz

(A) Knurling | afef

(B) External threading | STE3I UTST
(C) Internal threading | 3R AfST
(D) Parallel turning | AR e

Correct Answer : B



(6). Which cause lead to malfunctioning of electronic circuit of CNC? | CNC &

SAACIM® Fidhe H WRTS BT HRUT DI AT 52

(A) Improper ventilation | 3ffad df¢a=M

(B) Poor supply | TRTS 3MTYfct

(C) Loose connections | GIcl 1T

(D) Blocked air circulation | 3fd¥ aig GRITROT

Correct Answer : A

(7). What is the GO1 command stands for in the part program? | gré T H Go1

®is fhad fau g2
(A) Rapid traverse | %fﬁgaaﬁ
(B) Return to reference point | Ry HT‘i;C R gy 3

(C) Circular interpolation clockwise direction | {-ISEJQ'I{ ‘{;diq\la-?l"l d('iTOde‘é\fi

STARM
(D) Linear interpolation | ?ﬁﬁméazdlégﬂ

Correct Answer : D

(8). What purpose the code of Q is used for the grooving cycle in G75X - Z-P-Q-F-?
| G75X - Z-P-Q-F-? [T AISfchel H Bhls Q B by I3 o o1t IuTNT fovat
ST 82

(A) Shift value in 2 axis microns | Z' 31& H ShiHcd e ol TTgTs & fold
(B) Width of the groove | Jd ®! Al8ls & Tl

(C) Groove diameter | Jd SRR & fog

(D) Feed value | 1S | & T

Correct Answer : A



(9). What is the correct program format (Block) for CNC drilling cycle? | CNC

fefe s & for 9t Ui wide (safe) | g 2
(A) G75X20.0Z-37 P500 Q400 F0.08

(B) G01X40 Z-50 F0.05

(C) G76X40 Z-110 P1298 Q300 F2.0

(D) G74 Z-50.0 Q8000 F0.05

Correct Answer : D

(10). What is the full form of CAE? | CAE W@WW%’-’
(A) Computer Aided Engineering

(B) Computer Application in Engineering

(C) Computer Attached Engineering System

(D) Computer Applicable Engineering Process

Correct Answer : A

(11). What is the value of 'x’ axis while tapping? | ST Bd vy ’X’WW
AF R E?

(A) Value of tap size | ¢U HISSl T HM
(B) Zero | U

(C) Negative | BUMTHD

(D) Positive | YdTHD

Correct Answer : B



(12). Which one is correct command block for threading cycle in CNC? | CNC H

AT A18fhd & 7T o1 91 HHIS b Tl 82

(A) G75 X-Z-P-Q-F-

(B) G74 Z-Q-F-
(C) GO1 X-Z-F-
(D) G76 X-Z-P-Q-F-

Correct Answer : D

(13). What is the remedy for cavitation in hydraulic pump of CNC? | CNC &

g3 SITerd U0 H ohfdceH &1 UM 1 82
(A) Replace the belt | ST §Gal

(B) Fill sufficient oil | TTTW dd HY

(C) Replace dirty filters | T ftheex 9adl
(D) Replace bearing | S37T dadl

Correct Answer : C

(14). What is the full form of TPM? | TPM &1 QUl &0 &1 87
(A) Total Production Management

(B) Total Productive Maintenance

(C) Tolerance Permissible Method

(D) Tolerance Permitted Management

Correct Answer : B

(15). What is the address letter for the function of spindle rotation speed? |

RIS g o1 1fa & haRM (BT & I S 1 egy 3ieR gid1 82




(A) F
(B) S
) T
(D) D

Correct Answer : B

(16). What is the major diameter of thread in the given figure? | é)f"l_sc Wﬁ[f{
IS BT T T T 62

. /—mnxz.nxau
o i 2 i i s
@
1 2 1oxas ||
= 30 i B== =g : Ab e
(A) 30
(B) 42
(C) 45
(D) 28

Correct Answer : A

(17). What will be displayed on the screen while simulation? | ﬁﬂﬁ’-‘ﬂ:{\?ﬁ@'ﬁ:{
TR UG Rid foam smeem?

(A) Entire part program | H{quﬁm'ﬂm

(B) Graph of the component | YCd h[ UTh




(C) Work off setting details | focd Ue HATdg B
(D) All tool geometrical values | Glﬁ@GﬂT&lFﬂ'qW

Correct Answer : B

(18). What is the purpose of turret head on CNC lathe machine? | CNC Y AR
TR TIC BS B I FT?

(A) It holds the work pieces | WW@W%

(B) It holds the cutting tools | g GATE cd &l Uch Sdl %
(C) It supports for lengthy work pieces | W@Wﬁma

(D) It guides to the work piece while thread cutting | Ug 16_‘.] CARE K C?IQI"I

JHUIT I S HdT &

Correct Answer : B

(19). Which code is suitable for drilling operation from the following? | ﬁqi%ﬁ@?r

A o T Hrs f3fei oy & fore Suged g2
(A) G74
(B) G76
(C) G71
(D) G70

Correct Answer : A

(20). Why bar feeding mechanism preferred in industries? | B@Tﬁﬁaﬁ WIS
GEKAR IR Co S KA RIS

(A) Toincrease production | 3dlg ®I<§I:| %]%’I'Q

(B) To reduce automation | ¥ddIcd B HH B %]%’I'Q



(C) Toincrease man power | ﬁwa&ﬁ%ﬁm

(D) To increase maintenance | IWIWIG g & T

Correct Answer : A

(21). What is ‘X" in the syntax of G75 grooving command G75X-Z-P-Q-F-? | G75

T[T HATS G75X-2-P-Q-F-? & RicR T 'x FATG?
(A) Incremental depth of cutin 'z’ axis | Z’ 3 H s;q?lﬁ'cm hc ﬁ‘lsﬁl‘g
(B) Groove diameter | Q\HSIEIII“EQ

(C) Width of the groove | Qﬁﬁ?ﬂ@g
(D) Tool return value amount | ¢ e ac'ij\&ll-lldd

Correct Answer : B

(22). Which CNC programming code is used for tapping cycle R.H? | %Iﬁ‘l deh R.H

& fo1T 1 a1 He=f UrnfE Sl v fosar Sirar g2
(A) G 84
(B) GO8
(C) Goa
(D) GO3

Correct Answer : A

(23). What does the word Q stand in FANUC system peck drilling cycle syntax as G
83 X-Y-Z-R-Q-F-K? | Q Xeq FANUC RieH U f3feiT Tsh Rided 6 83 X-v-z-R-Q-F-
KH ... T UH qidl g7

(A) Depth | e8RS

(B) Position of R plane | R ad &1 [Rufd



(C) Depth of per pass | Ufd g ot ‘IE?IE;
(D) Number of repeates | élé?lelﬁm

Correct Answer : C

(24). What is the full form of ABF on CNC machine? | CNC HRIF TR ABF Wq:lﬁ
U R g?

(A) Automatic Bar Feeding

(B) Available Basic Feeding Mechanism
(C) Advanced Bilateral Feed

(D) Authorized Bar Feed Control

Correct Answer : A

(25). What do you understand, if the code of P in the part program of multiple
thread cutting block G76X-Z-P-Q-F-? | 3{TIR NS BT SAIB G76X-Z-P-Q-F- & e

T H p 1 HIS H SHTU HT GHI 62

(A) Root diameter | ¥C G

(B) Height of the thread | %ﬁmﬁ

(C) Length of the thread on the component | HHHC R Uﬂ“rﬁawa‘
(D) Depth to be taken for 1st cut | qmaﬁ%%ﬁ?ﬁaﬁaﬁﬂ%ﬂ%

Correct Answer : B




